FIE / Product Number

AUX - -

HF % W=t %k

H dimension W dimension

R

D dimension

D~F% JLE

Rubber feet

S HE R{L#% / Original trapezoidal head screw specification

BT =HILT—% / Technical Datall
#E{tILY / Recommended torque: 0.3N*m ~ 0.6N*m

EXP/H)

Screw (P or H)

@ D

© =

[ P] 752 / Phillips

E 75F / Hexagon—socket

it

Color Type

FERLINZ / Components

No. % %5 / Part name = / Pcs #E / Material - RmEWLE / Color-Finish
’ a—F—7Javy A TILEF L Fv X ADC12 DIN—  Tovy -k
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) 4R 4 TILSIRHH A A6063S-T5 DIWN—  TZYT- T
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
3 H— : 7JLZHR A1100P DIWIR—, TT9Y-TILIAh
Top cover Aluminium A1100P Silver , Black* Anodized
4 Thi— : TILZHR A1100P DIN—  TZ9T- Tk
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 dJLR 4 RO L T3599
Rubber feet Rubber Black
6 EE X (M3 x 8) " % =T ILAYF
Screw (Flat head M3 - 8) Steel Nickel plated
; H{TE R (E#M3 x 5) 12 % ZuirILAyE | ZflEIAA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate

AHESLUTE T BRROEFE RS IHF B T E(RMBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

£ {t4% / Color Type
i85 / Code | a—+—7JOw% / Corner block {BI#R / Frame $H73— / Top cover TH/3— / Bottom cover
S S 2 )L7N— / Silver 2 )L7S— / Silver 2 )LiN— / Silver < JLsN— / Silver
S B 7574 / Black < JLsN— / Silver 2 JL1S— / Silver 2 )LiS— / Silver
B X 75979 / Black J5wv% / Black 2 JLIN— / Silver 2 JLiS— / Silver
B B 75979 / Black 75979 / Black 75974 / Black 75974 / Black

4/ Title
e A == .
TAKACHI| %Xt hFERIE ZIILIavrO—ILRYS X @ :J
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AR/ Approved 1% X]/Checked #[X]/Created FIF/Product number RE/Scale
AUX88-60-36RO-C10 —
EP*E ¥ E'J?’*:J' N— /Page

1ERK B /Date 2023/01/17 176




353

A-A(1:85)

66

D view

B view

E view C view F view
600+0.8
A —
T ) ‘0 i o
|
) '
(=] |
H ————
g T | T
B i B
1
] | O . o,
A —
C-C(1:85)
A view
C c . I‘
« -
o ™
sl 4 4
©
[=<) =
o
[t
553
B-B(1:85)
©
M fh/Title
TAKACHI] #R&#ahFEHTE FLIavkO—LRYH R @ G
593 TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX

2 /Approved

R

#&[X/Checked

T

X /Created

A

FIF /Product number

AUX88-60-36RO-11

RE/Scale
1:85

{ERL B /Date

2022/07/28

~R—/Page

2 /6




A {84k / A Frame

87

B {8k / B Frame

550

XM / Front side

R / Front side

80.7

3

33 33

3

L
————————————————

5 2-M3FH SR

2-M3 Countersunk

M3

¥ R*IEHEHE / Same on the other side.

]
I —

Z M / Back side

EEE&

]
I —

21 / Back side

m#/Title
BREUINTFEMTE %ﬁlmi O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - W600 1:85
iR ES Eaza) N—/Page
1ERLH/Date 2022/07/25 3/ 6




C fAl#x / C Frame

310

87

XM / Front side

D {8l#% / D Frame

M / Front side

80.7

= I 5
< o
5 2-M3FHSR 5
2-M3 Countersunk
225 ¥ R¥EBREHR / Same on the other side.
™
@
™
| -
@
-
™
251 / Back side
les L
[ \>4]
221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - D360 128
iR ES e N—/Page
{ERE /Date 2022/07/25 4 /6




4-R14.7

349.4
330

M@ / Front side

589.4

570 2
6-@4.5

REE— M

Surface protective film side

H#hti% / Max dim. 313+ 0.5

A% / Max dim. 553+ 0.8

2@ / Back side

R4/ Title
TAKACHI] #AR#SHFERIE HIN— [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover @
7R/ Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
W600 — D360 15
T 3 B4t T P
fEfB/Date  2022/07/26 5/ 6




4-R14.7

349.4
330

M@ / Front side

589.4

570 2
6-@4.5

REE— M

Surface protective film side

H#hti% / Max dim. 313+ 0.5

A% / Max dim. 553+ 0.8

2@ / Back side

4/ Title
BREUINTFEMTE THA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W600 - D360 _ 18
q:*E e %”*‘T ~N—T/Page
{ERL B /Date 2022/07/26 6 / 6




	AUX88-60-36R
	ｼｰﾄ2_AUX88-60-36R
	AUS_W600
	AUS_D360
	AUT600-360
	AUT600-360



